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● 例 題 ●

次の式を展開しなさい。

（１）(χ＋２)(χ＋４)

＝χ２＋(＋２ ＋４)χ＋２×＋４

２つの数をたす ２つの数をかける

＝χ２＋６χ＋８ →８１へ

問１ 次の式を展開しなさい。

（１）(χ＋２)(χ＋３)

＝χ２＋５χ＋６

答．χ２＋５χ＋６

（２）(χ＋３)(χ＋５)

＝χ２＋８χ＋１５

答．χ２＋８χ＋１５

（３）(χ＋４)(χ＋７)

＝χ２＋１１χ＋２８

答．χ２＋１１χ＋２８

（４）(χ－３)(χ＋５)

＝χ２＋２χ－１５

答．χ２＋２χ－１５

（５）(χ－８)(χ＋３)

＝χ２－５χ－２４

答．χ２－５χ－２４

（６）(χ＋９)(χ－６)

＝χ２＋３χ－５４

答．χ２＋３χ－５４

（７）(χ＋１)(χ－５)

＝χ２－４χ－５

答．χ２－４χ－５

（８）(χ－２)(χ－５)

＝χ２－７χ＋１０

答．χ２－７χ＋１０

（９）(χ－７)(χ－８)

＝χ２－１５χ＋５６

答．χ２－１５χ＋５６

（10）(ａ＋５)(ａ＋４)

＝ａ２＋９ａ＋２０

答．ａ２＋９ａ＋２０

（11）(ｂ－７)(ｂ＋６)

＝ｂ２－ｂ－４２

答．ｂ２－ｂ－４２

（12）(ｙ＋９)(ｙ－７)

＝ｙ２＋２ｙ－６３

答．ｙ２＋２ｙ－６３

（13）(ｐ－４)(ｐ－１５)

＝ｐ２－１９ｐ＋６０

答．ｐ２－１９ｐ＋６０

（14）(χ＋ )(χ＋ )

＝χ２＋χ＋

答．χ２＋χ＋

（15）(χ－ )(χ＋ )

＝χ２－ χ－

答．χ２－ χ－
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